
Hello, and welcome to the TI Precision Lab discussing intrinsic op amp noise, 
part 6.  
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Quiz:  Noise 6 
1. How can you test an op amp macro model? 
a.! Place the model in high gain and look at the output noise 
b.! Connect a large resistor to the input to translate current noise to voltage 

noise 
c.! Configure the model as a buffer and look at the output voltage 
d.! Measure the current noise using an amp meter 
e.! Both a and b 
f.! Both c and d 
  
2. What is not part of developing a noise macro model? 
a.! Setting the broadband and 1/f voltage noise  
b.! Setting the broadband and 1/f current noise  
c.! Setting the slew rate on the op amp model 
d.! Setting the open loop gain and bandwidth on the op amp model 
  
3. When entering 1/f noise into the macro model you should____. 
a.! Choose the point near the noise corner 
b.! Choose the point at the lowest frequency shown on the graph. 
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Quiz:  Noise 6 
1. How can you test an op amp macro model? 
a.! Place the model in high gain and look at the output noise 
b.! Connect a large resistor to the input to translate current noise to voltage 

noise 
c.! Configure the model as a buffer and look at the output voltage 
d.! Measure the current noise using an amp meter 
e.! Both a and b 
f.! Both c and d 
  
2. What is not part of developing a noise macro model? 
a.! Setting the broadband and 1/f voltage noise  
b.! Setting the broadband and 1/f current noise  
c.! Setting the slew rate on the op amp model 
d.! Setting the open loop gain and bandwidth on the op amp model 
  
3. When entering 1/f noise into the macro model you should____. 
a.! Choose the point near the noise corner 
b.! Choose the point at the lowest frequency shown on the graph. 
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1.! Use simulation to generate the data sheet noise curves for OPA211.  
Does the simulation model match the data sheet?.  
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2.  Create a model for OPA211 noise using the noise current and voltage 
sources with the generic op amp model. 
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1.! Use simulation to generate the data sheet noise curves for OPA211.  
Does the simulation model match the data sheet? 

Voltage noise Current noise 

1316 - Noise 6 - Problem 1.TSC 

http://training.ti.com/system/files/docs/1316%20-%20Noise%206%20-%20Problem%201.TSC
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2.  Create a model for OPA211 noise using the noise current and voltage 
sources with the generic op amp model.  Set Voltage noise source. 

25nV/rtHz at 
0.1Hz 

1.1nV/rtHz 
Broadband 
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2.  Create a model for OPA211 noise using the noise current and voltage 
sources with the generic op amp model.  Set current noise source. 

40pA/rtHz at 
0.1Hz 

1.7pA/rtHz 
Broadband 
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2.  Create a model for OPA211 noise using the noise current and voltage 
sources with the generic op amp model.  Set up op amp. 

AOL 10

130
20 3.162 106! V/V

Dom_Pole
45 106"

10

130
20

14.23 Hz
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2.  Create a model for OPA211 noise using the noise current and voltage 
sources with the generic op amp model.  Test new circuit. 
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1316 - Noise 6 – Problem 2.TSC 

http://training.ti.com/system/files/docs/1316%20-%20Noise%206%20-%20Problem%202.TSC
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